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S e ol2(H HI = (%) s ma ol (&) HI= (%)
1 126 19,858 4 .45 133 22,571 5.26
2 122 31,160 6.99 126 33,706 7.86
3 117 51,869 11.63 119 43,429 10.12
4 110 76,497 17.15 107 72,544 16.91
5 99 92,636 20.77 91 89,600 20.89
6 85 73,879 16.56 80 73,072 17.03
7 70 53,106 11.91 76 52,708 12.29
8 58 31,123 6.98 72 28,628 6.67
9 580] &t 15,915 3.57 720| 6t 12,708 2.96




FENIEER EREIE st=21X el EDE
== == i - /o =3 i - /o =3 B o =E o o
S ol () | HIS(%) S e olfi(gd) | HIS(%) S olfi(g) | HIS(%) S ol () | HIS(%)
1 67 6,470 4.54 68 1,527 4.46 65 1,797 5.21 66 1,640 6.31
2 63 10,599 7.44 65 2,303 6.73 63 3,002 8.70 63 1,502 5.78
3 59 16,945 11.89 59 4,642 13.56 59 4,636 13.44 59 3,560 13.70
4 53 25,305 17.75 52 5,815 16.99 54 4,776 13.85 54 4,142 15.94
5 47 28,249 19.82 45 6,827 19.95 47 6,633 19.23 47 5,159 19.86
6 42 22,479 15.77 41 5,719 16.71 41 6,415 18.60 41 4,300 16.55
7 36 22,260 15.62 39 3,705 10.83 37 3,798 11.01 37 3,040 11.70
8 34 5,149 3.61 37 2,351 6.87 33 2,738 7.94 33 1,771 6.82
9 340 Bt 5,085 3.57 370] Bt 1,337 3.91 330/ Bt 694 2.01 330/ Bt 866 3.33
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== ;§%¢ Ol (H) Bl = (%) ;§E¢ oIR(Y) Bl = (%) ;§%¢ oIR(Y) Bl = (%) ;1;%# ol () Bl = (%)
1 65 1,320 6.47 66 1,144 6.95 68 207 4.20 67 1,577 6.14
2 63 1,492 7.31 64 1,084 6.59 64 392 7.96 64 1,326 5.16
3 60 2,007 9.83 60 1,789 10.87 59 676 13.72 59 3,053 11.89
4 54 4,151 20.34 53 2,645 16.07 52 800 16.24 53 4,624 18.00
5 46 3,508 17.19 45 3,279 19.92 46 890 18.06 46 5,591 21.77
6 40 3,335 16.34 40 3,866 23.49 4 977 19.83 41 4,029 15.69
7 37 3,023 14 .81 38 1,393 8.46 38 569 11.55 37 3,085 12.01
8 34 1,201 5.88 36 967 5.88 36 226 4.59 35 1,644 6.40
9 340]| Bt 376 1.84 360]| Bt 290 1.76 360]| Bt 190 3.86 350]| Bt 753 2.93
NEREE,
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== ?§%¢ Ol (H) HI 2 (%)
1 65 7,803 6.13
P 62 11,292 8.88
3 59 11,688 9.19
4 54 23,136 18.19
5 47 22,892 18.00
6 40 23,071 18. 14
7 37 14,079 11.07
8 34 9,010 7.08
9 34[1@ 4,218 3.32
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T2 ¥4 )| wEw | LS5 | eae | wsm | 55, | ewe - ==
1 5 E= 22 A oI (g) 5l = (%) ETE =
! 7 3,751 5.02 68 2,840 4.01 - g ma | HE(E) | HIEER)
54 3.08 ’ : 64 8,542
3 5 - 658 152. 2268 23 5,445 7.70 61 10, 166 32? 22 0400 0.2
: . 8 9,210 ’ ' 9,830 6.73
4 53 10,842 : 13.02 58 21,984 :
, 17.40 53 11,19 ' .29 29 17,627
> 46 12,189 190 15.82 55 18,096 : 12.07
, 19.56 a7 3.9 : 12.84 53 21,675
/ 38 6,728 243 17.31 41 24,649 : 21.46
. 10.80 38 8,23 : 17.48 41 22 694
8 35 5,036 231 11.63 35 18 748 : 15.54
, 8.08 34 = 820 : 13.30 38 18,957 12
, . 9
9 35012t | 1,518 244 340/0F | 1,840 gég 33%?.3} 7,222 5.12 34 10,209 6 998
EREy —— - ot [ 5,431 : :
s2 == o=l R — 2o x|4’255 2.91
= olE(d) | HIs(H =2 - = - SO
= B4 N RCETOR I R TE D ECTETCON DA BT TEN CE-TON .
1 66 164 6.24 66 117 4.12 == | ey | HEE) ] B0
2 63 154 - 66 200 4.0
3 59 341 152' 8968 gg 239 8.41 63 204 3 12 22 119 4.31
. : 267 9.68
4 53 195 420 14.78 59 o4 .
18.84 54 403 14.25 60 302
5 45 479 14.19 53 897 10.95
20.78 41 427 19.60 45 590
7 37 234 15.03 20 877 21.39
8. 90 37 353 17.76 40 401
5 = = 12 43 36 510 14.54
5.48 34 206 10.33 37 333
7.2 12.07
9 3501 ot 71 2.70 3400t 9 . = il 2.00 35 190
o) i 3.20 340/ 0 137 > 77 - 6.89
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"7 | agma | ¥EE) =5 AEION N BEm) | oS5, | @8 I (%)
1 68 174 70 4.78 67 4. 11 70 71 4.81
2 63 334 64 6.70 64 /.73 65 102 6.91
3 58 482 56 13.88 61 11.36 57 181 12.26
4 53 737 52 16.27 53 17.32 51 247 16.73
5 47 800 46 22.97 45 21.83 46 315 21.34
6 41 858 43 12.92 40 17.45 42 247 16.73
7 37 330 37 14.83 38 11.84 39 157 10.64
8 33 267 35 4.78 36 5.07 35 117 7.93
9 330] o 136 350| 2 2.87 360| 9 3.29 350] 9 39 2.64
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1 74 1 68 4.72

2 64 2 65 8.24

3 56 3 60 10.19

4 51 4 51 18.52

5 48 6 46 19.91

6 43 3 42 15.46

7 42 2 38 13.15

8 420] 8t 2 36 6.20

9 - - 360/ 8t 3.61




